S 0l & AHEY I

Al A

FA s8II=sn
33 I l=He
Cel: DEX SASMA JIZXY AY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=s20|= 3,508,615 3,720,532 A216,917
= 744,280
Jl 3,823
= 257,600
Al 2,497,912
sSIsHeY 3,352,833 3,646,728 N293,89%
= 744,280
) 3,823
= 257,600
Al 2,347,130
VS stsda Jl=XE A 1,642,530 1,650,803 A\8,273
= 559,780
Al 1,082,750
SLYSAH A2 SHAE 5,000 5,000
206 M=l 5,000 5,000
01 M=4l 5,000 5,000
ORYSA Asue SA XM
2,500,000 *2ha 5,000
sYII=EcSAY SEEIte ¥ st=A0IL B4 6,710 6,470 240
201 =3 2,910 2,670 240
01 At22telt] 2,910 2,670 240
OSEEIta &4+ M
70,0003 %14 70
Ozl Uz M
12,0003 %1202 1,440
OZEEItel HA gtz
700,000 ~2CH 1,400
301 LEIE NS 3,800 3,800
11 dALEEIXIZE S 3,800 3,800
OZg"otel &4 8,000& 100 800
OsgQl st=AMoILt &4
60,0002 50 3,000
Slle=s g4 20,760 43,753 N22,993
201 fer=3| 600 20,233 19,633
01 AtR2tc|Hl 600 600 0
OnNsEZ SRz 150,000 *4CH 600
202 04l 20,160 23,520 A3,360
01 2LHoIH 20,160 23,520 A3,360
Ogsae =20y 1,680,000& 12 20,160
azTdac|d 29 16,000 16,000 0
207 ARl 16,000 15,000 1,000
03 Al 2HI 16,000 15,000 1,000
ouszdacld 29 16,000,0002*14] 16,000




SN SYIED
33 I l=He
Hel: NEE sdsdL JIeXId MY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
s 2Jls K& 194,500 226,500 A32,000
206 M=l 30,000 30,000 0
01 MZH| 30,000 30,000 0
OO0ts S=0HMHHH A SAIY
1,000,000 #5704 2 5,000
Og=Hi2l ZRUN YXY X Al
5,000,000 +2JH 2= 10,000
Ot Sgac| A
5,000,000 294 2 10,000
OowAutel zetd LM Ald
1,000,000 #5704 2 5,000
402 212+ X201 & 164,500 196,500 /32,000
01 RIEN S A EZ(XHMITHR) 164,500 196,500 A32,000
ODE orEuMe Sepel AlY
12,500, 000& *2hax7 (% 17,500
ON=Z2 28 2T Al
20,000, 000& * hax70% 14,000
OXleret k= R= AN AlE
20,000,000 *17H 2% 7(f% 14,000
Ol 2letd tEMMI = AlE
100,000, 000& *70% 70,000
OB A =0t Atel=s=2he THEH AlE
30,000, 000& 7% 21,000
OAEMA ZYHITY AW AY
20,000,000& *27H 2= %7(f% 28,000
SHE HollE YHAE 280,000 194,500 85,500
206 M=l 40,000 0 40,000
01 M= HI 40,000 0 40,000
O=¢ golis &Hl XA
50,0002 *800ha 40,000
307 elztol & 240,000 240,000
02 2B YA HE X 240,000 240,000
Ol HoHS(SHHR0I, S2H) X %/ X
= 160,000& % 1,500na*50% 120,000
Ol goiE MsHER) 2R X
150,000& %1, 600ha*22] *25% 120,000
sHEgoE HERE A 29 19,000 19,000 0
= 9,500
Al 9,500
101 @124H| 2,000 2,000 0
= 1,000
Al 1,000
M JIZtHZ2NHSE 2,000 2,000 0
OdaliE HEAHA 28 LAAMNY
2,000,000& %14 2,000
= 1,000




SN SIS
M )|
Ci9l: DED SASMA J|STY A (12l M2
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 1,000
201 B2 AY| 12,000 12,000 0
= 6,000
Al 6,000
01 AlR22IH| 12,000 12,000 0
O#slE HZETA 2g 8t
5,000,000& 14 2~ 5,000
= 2,500
Al 2,500
OROIBEEEY HEAAY 28 248
7,000,000 *1JH 2 7,000
= 3,500
Al 3,500
206 =6l 1,000 5,000 A4,000
= 500
Al 500
01 =Yl 1,000 5,000 24,000
OdoliE ol& ¥ & 2SI
1,000,000 *14] 1,000
= 500
Al 500
207 AR 2,500 0 2,500
= 1,250
Al 1,250
03 A& 2| 2,500 0 2,500
OdYoliE ole & & ANEAP2XM
2,500,000& * 14 2,500
= 1,250
Al 1,250
405 XHeHE S| 1,500 0 1,500
= 750
Al 750
01 XML =EF S| 1,500 0 1,500
Oy €27 1,500,000 *1CH 1,500
= 750
Al 750
sHZ2YoE 2FE 29 6,000 6,000 0
= 3,000
Al 3,000
206 =4l 6,000 6,000 0
= 3,000
Al 3,000
01 =l 6,000 6,000 0




2A:
X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2
Os&=dols 2E2L 28 M=
300,000 x200H A 6,000
= 3,000
Al 3,000
sHEgoE YHbl X2 70,560 86,580 /16,020
= 35,280
Al 35,280
206 M=l 70,560 86,580 /16,020
= 35,280
Al 35,280
01 MHZHI 70,560 86,580 /16,020
Ogdgais(ataty) 400,000% x84ha 33,600
= 16,800
Al 16,800
Osggiis(=) 220,000& 168ha 36,960
= 18,480
Al 18,480
=8 A= Al 930,000 780,000 150,000
= 465,000
Al 465,000
206 M=l 20,000 20,000 0
= 10,000
Al 10,000
01 MZH| 20,000 20,000 0
O=sgdls 0ldE 28 152 4= M
= 20,000,000& x 14 20,000
= 10,000
Al 10,000
402 2I2E X201 & 890,000 760,000 130,000
= 445,000
Al 445,000
02 QI X2 AL EE (01X THE) 890,000 760,000 130,000
O=2X 0 Agxs S43 AE(IXt o
<) 100,000,000 *1IH A 100,000
= 50,000
Al 50,000
OBIOI2A & A 2= AIEMUHA 220t
A 2RI MY 30,000,000 *1IH 2 30,000
= 15,000
Al 15,000
oYL mUSHES 22 M-
40,000,000 *1IH 2 40,000
= 20,000
Al 20,000




2N sl
33 I l=He
Cel: DEX SASMA JIZXY AY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBA 2U=EEE 22 MY
50,000,000 * 100 2 50,000
= 25,000
Al 25,000
O3hz UIHE M €S HE Jl= AE
20,000,000 *1IH 2 20,000
= 10,000
Al 10,000
OLH S JISE & Fa= daeX
B 70,000,000 * 100 2 70,000
= 35,000
Al 35,000
OgJ| =R HEsA Jls A
50,000,000 *1IH 2 50,000
= 25,000
Al 25,000
OL2)| 287 IZE Argduas flet 2
S Jl= AlEY 70,000,000 * 100 2 70,000
= 35,000
Al 35,000
OsIIESE S8&/= =58 e 2T
Jl= MY 40,000,000 * 11 2 40,000
= 20,000
Al 20,000
OAIZ20&E Bi0leA SSEMII= A
40,000,000 * 100 2 40,000
= 20,000
Al 20,000
O3fsll 72 &g & & AIAE Dz Al
= 80,000,000 *1IH 2 80,000
= 40,000
Al 40,000
OXNESALSHS d)|ls dEHA &4
300,000,000 *19H 2 300,000
= 150,000
Al 150,000
405 AtatE=H 20,000 0 20,000
= 10,000
Al 10,000
01 Tt ESF=HI 20,000 0 20,000
OUAIIE S5 SFEY)
20,000,000& * 14| 20,000
= 10,000
Al 10,000
A/ EolE LM 2 94,000 188,000 A94,000

H

47,000




SN SIS
33 I l=He
Cel: DEX SASMA JIZXY AY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 47,000
101 @1A4H| 50,000 124,000 AT74,000
= 25,000
Al 25,000
04 JIZtN2Z2XNSE 50,000 124,000 AT74,000
O=Jr2elgais M 24
25,000,000& 2 50,000
= 25,000
Al 25,000
201 Ler23| 27,000 6.000 21,000
= 13,500
Al 13,500
01 AtR2t2|HI 26,000 6,000 20,000
OBl%%t o £22 M
3,200,000 *14] 3,200
= 1,600
Al 1,600
OgMe& 1=l 100,000 x 15 #23] 3,000
= 1,500
Al 1,500
Og Mt axtz 2,200,0002 02 19,800
= 9,900
Al 9,900
02 s3=gHl 1,000 0 1,000
OY M &=
1,000,000 *14] 1,000
= 500
Al 500
202 04t 2,000 2,000 0
= 1,000
Al 1,000
01 2L AL 2,000 2,000 0
Ogre 2248 0l 2,000,000& %14 2,000
= 1,000
Al 1,000
206 MH=H| 15,000 56,000 241,000
= 7,500
Al 7,500
01 MHZH| 15,000 56,000 241,000
OgHe 2EMES(THINE, L)
15,000,000 * 14 15,000
= 7,500
Al 7,500
HAHIEY X ANSMSHL D23 604,703 448,042 156,661




FA s8II=sn
3 sIl=MHeg
CHOl: MIAMIRZ U OFRISAISMA DS HD (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 18,000
=S 248,000
Al 338,703
o= otE2d 29 8,703 8,042 661
101 21AH| 4,203 3,542 661
M ORNZZ2NSE s 4,203 3,542 661
Ot otz=2d 28 LAIMY
91,3603 2 232 4,203
206 M=l 4,500 4,500
01 MZH| 4,500 4,500
O3t Mt Al 2 XHH
4,500,000 14| 4,500
X &35 &3 J|BZ A (MEAY) 400,000 400,000 0
s 200,000
Al 200,000
402 212+ X201 & 400,000 400,000 0
[ 200,000
Al 200,000
02 QI TH2AILEE (01X THE) 400,000 400,000 0
OMAS &= Hel NESEs =4
400,000,000 *1IH A 400,000
= 200,000
Al 200,000
U= WSEs Jls2s FHl X 36,000 0 36,000
= 18,000
Al 18,000
201 et 3| 3,000 0 3,000
= 1,500
Al 1,500
01 AtR2t2lt] 3,000 0 3,000
Ol=3statd HESFHEAAE 22 AL
=3 50,000 *102 500
= 250
Al 250
Odgolis =& & 2 &
2,500,000 *14] 2,500
= 1,250
Al 1,250
206 MH=H| 3,000 0 3,000
= 1,500
Al 1,500
01 MHZH| 3,000 0 3,000
Ogalis Mt & 2ls+& X
3,000,000 *14! 3,000




SN SIS
3 sIl=MHeg
CHOl: MAHIEZ U QIESAMSMA J|EEE (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,500
Al 1,500
405 AtatE = 30,000 0 30,000
= 15,000
Al 15,000
01 ML ESFSHI 30,000 0 30,000
Oelzs=+=E8Hl & Hollsddt|
30,000,000 *14! 30,000
= 15,000
Al 15,000
CIOIES JIgt AIZ30 2LIEE AIAE 235 80,000 0 80,000
= 24,000
Al 56,000
402 QI2F X201 & 80,000 0 80,000
= 24,000
Al 56,000
02 QI X2 AL E R (01X THE) 80,000 0 80,000
OUIOIH Jlgt AlE30 2LIHE AIAE &2
= 100,000, 0002 *17H 2 +80% 80,000
== 24,000
Al 56,000
Ol TS W= ADIEYE JIBtxd 80,000 0 80,000
= 24,000
Al 56,000
402 QI”F X201 & 80,000 0 80,000
= 24,000
Al 56,000
02 QI X2 AL E R (01X THE) 80,000 0 80,000
O0lle S U= AOIER Jlgtxd
100,000, 0002 *17H 2 +80% 80,000
s 24,000
Al 56,000
gt dEsY JleEs 699,018 458,333 240,685
= 136,500
Il 3,823
= 9,600
Al 549,095
EATESHEY 29 7,050 9,550 22,500
201 er2 3| 7,050 7,050 0
02 S3=4gl 7,050 7,050 0
Osgddd ANEEHIRAl
7,050,000 * 14 7,050
=E0ld= B datAld £X 243,320 241,320 2,000
201 =3 85,320 85,320 0
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SRl
Ha: sl

Helr XgEslE MBsY D=2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 15,000 15,000 0
Osdt=otdd 244 Al EHI R
15,000,000 * 14 15,000
206 MH=H| 1,200 1,200
01 M=4l 1,200 1,200
Ostt=0tdy 244 28 M=
30,0003 405 1,200
207 ARl 63,000 50,400 12,600
03 Al 328 63,000 50,400 12,600
Ost=ody 244 29 63,000
PESAE JtA 250,000 65+ 122 18,000
D RBERA HEAI
25,000,000 *14! 25,000
>ASESE JIXHM 20,000,000& * 14! 20,000
SeEds 29 37,000 37,000 0
= 18,500
Al 18,500
201 Ler23| 6,600 12,400 25,800
= 3,300
Al 3,300
01 AtR2t2|HI 6,600 12,400 /5,800
OAlz SEMH 1502 %10,0000H 1,500
= 750
Al 750
OHY AEHel =2 1,100 *3,600L 3,960
= 1,980
Al 1,980
OEXEA === 1,140,000& %12 1,140
= 570
Al 570
206 M=l 2,000 2,000 0
= 1,000
Al 1,000
01 M=l 2,000 2,000 0
Oseddd 28 Mg
2,000,000& *14] 2,000
= 1,000
Al 1,000
207 ARl 28,400 22,600 5,800
= 14,200
Al 14,200
03 Al 2HI 28,400 22,600 5,800
Oseddd 48N 80,0002 1005 8,000
= 4,000




M =9l
M )|
SHel: XIEStE MYsY D23 Ct
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 4,000
OZZEA Add =X
100,000& *605 6,000
= 3,000
Al 3,000
O=gddd 248 JtA
300,000&x45+ 12 14,400
= 7,200
Al 7,200
DIOE &2 AETHBHA ELHEF AlH 15,000 15,000 0
206 =4l 15,000 15,000 0
01 =Yl 15,000 15,000
OZ2UE E AIEMHX ELINS Al
15,000,000 *1ha*1JH 2 15,000
NEEL Bk 53 26,000 26,000
= 13,000
Al 13,000
101 2124d| 26,000 26,000
= 13,000
Al 13,000
M IIZHNZ2 2 NS Es 26,000 26,000
OIIEEL SRS s34 29 JI2HA
=22 &t 26,000,000 *14! 26,000
= 13,000
Al 13,000
JIE2s BUXEZ ELHAL 3,823 3,823
| 3,823
206 =4l 3,823 3,823 0
| 3,823
01 =l 3,823 3,823 0
O2YdEE3 ELIA M=
3,823,000 *14] 3,823
| 3,823
Sg)|ls 0|d2 &8 AlY 10,000 5,000 5,000
206 =8l 10,000 5,000 5,000
01 =l 10,000 5,000 5,000
O=g)Is 0M=2as NSE Mad S
JlE Al 10,000,000 * 14! 10,000
ZlstEd=4arae e 29 10,000 10,000
= 5,000
Al 5,000
206 =6l 10,000 10,000
= 5,000
Al 5,000




SN SIS
3 sIl=HeE
Helr XgEslE MBsY D=2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 10,000 10,000 0
O=UE = M=
10,000,000 » 14 10,000
= 5,000
Al 5,000
HIOI2X 28 ELEINE & MEx s2)i=s AlY 32,000 0 32,000
== 9,600
Al 22,400
402 2I2E X201 & 32,000 0 32,000
< 9,600
Al 22,400
02 QI X2 AL EE(OIHTHE) 32,000 0 32,000
OHIOIRX B8 EABAMH L HEA =
= A 40,000,000 *17H 2=+80f% 32,000
= 9,600
Al 22,400
BASE JIEE2R S4I8 & 200,000 0 200,000
= 100,000
Al 100,000
405 KHaHE SH 200,000 0 200,000
= 100,000
Al 100,000
01 TR =S F=H 200,000 0 200,000
OJ=2kL 24 535 ZAEHI(IP)
200,000,000 x 14 200,000
= 100,000
Al 100,000
ANHSds & Uslgds 43AE A+ 406,582 1,089,550 682,968
= 30,000
Al 376,582
etgds ASAERE 2Y 85,866 69,500 16,366
101 e124d| 54,816 46,200 8,616
M ORNZZ2NSE S 54,816 46,200 8,616
OAZAIEE 2F LAIASA
91,3603 x10E ~60! 54,816
201 Ler23| 14,300 13,300 1,000
01 At2teltl 5,100 5,100 0
Os2= & H& NH
30,0008 x25+50H 3,000
O&SAEE II=HI 150,0002 x2&H 300
O&SASE 2282 &l &xiz
600, 0002 *3CH 1,800
2 35234l 9,200 8,200 1,000




2A: s2Ilsn

M SYII=HE
(=]

ol NGSAE U DEAE ASAIE o7 (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OASAEE S H=H|
800,000 =4CH 3,200
OASAEE AIEEHIRAH
500,000 * 125 6,000
206 M=l 10,000 10,000
01 M= HI 10,000 10,000
OASAEE 2 XM
100,000& x205+52] 10,000
405 AHatE = 6.750 0 6.750
01 ML ESFSHI 6,750 0 6,750
Oott=H =2ext 2,100,000 *3CH 6,300
Ou=I1(A) 450,000 *1CH 450
neEs AFRANE 2 61,900 50,850 11,050
201 et 3| 44,000 34,550 9,450
01 At22t2l] 9,600 150 9,450
OltstigdsAIE des & XS 7
150,000+ 1 150
OUstEsAlE AEHHAH =25
13,5003 »700m’ 9,450
02 S3=gHl 34,400 34,400 0
OlstdsAlE &dIIes
400,000 *3 A+ 128 14,400
OFcl2d 2SI A=Y
1,000,000& «12& 12,000
OUstEsAlE FAl2clt|
8,000,000& *14] 8,000
206 M=l 12,000 10,000 2,000
01 M=4l 12,000 10,000 2,000
ONsgdsAIE 43712 W T
120,0002 x505+23] 12,000
207 ARl 5,000 5,000
03 Alg 328 5,000 5,000
OXNUHSA ==tSA AIFAT XM
50,0003 x505+23] 5,000
405 AtatE = 900 1,300 A400
01 ML ESFSHI 900 1,300 A400
OsSE2II 900,000 *1CH 900
sgHgssd 29 82,816 74,200 8,616
101 ©1AH| 54,816 46,200 8,616
M ORNZZ2NSE S 54,816 46,200 8,616
OsgHEssd 29 LAAMA
91,3603 x10E ~60! 54,816
201 er23| 13,000 13,000
01 At2teltl 8,000 8,000




FA s8)ls0
3 I =M
ol NGSAE U DEAE ASAIE o7 (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OsgMgssd 28 +=EH|
2,000,000 %14 2,000
OsgHguad2d dA=d
150,000 *402] 6,000
02 s3=gHl 5,000 5,000 0
OsgMessd AE&HI=A
500,000 %105 5,000
206 M=l 15,000 15,000
01 MZH| 15,000 15,000
OsgHgns MeEia
100,000 %1502 15,000
KNAESHEZIHEY AIEHT 116,000 95,000 21,000
206 M=l 15,000 15,000 0
01 M=4l 15,000 15,000 0
OES=& = =t Al'E THH
1,000,000 %1000 2 10,000
O21tF dses MM A&
1,000,000 #5704 2 5,000
207 ARl 10,000 10,000
03 Al 2HI 10,000 10,000
OXNS=sdSLs A5
100,000& x205+52] 10,000
402 2I2E X201 & 91,000 70,000 21,000
01 IR SASE X (XHMITHR) 91,000 70,000 21,000
O2l dZS AL Al
30,000,000 * 1IH A7 0% 21,000
OXM=E ESUN AZE 25 ANd
20,000, 000& *2hax70% 28,000
OJI=HatS Hetd AL AlE
30,000,000 *2IH 2=x7(f% 42,000
HUHBIIE S et A=SEE A8 40,000 0 40,000
= 20,000
Al 20,000
402 QI+ X201 & 40,000 0 40,000
= 20,000
Al 20,000
02 QI A2 AL E R (0IHTHE) 40,000 0 40,000
OdUSIIE HHE Rgt ASEE AlY
40,000,000 *1IH 2 40,000
= 20,000
Al 20,000
DICHAICH CHe sEAE 2I1SIIE8 =4 ¥ 28E=x & 20,000 0 20,000
2 MY
= 10,000
Al 10,000
402 QI>F X201 & 20,000 0 20,000




M =9l
I =) |2oHe
o e

Ciol TOSAE U WSHE AZAE o7 (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 10,000
Al 10,000
02 QI X2 AL EE(0IETHE) 20,000 0 20,000
ODICHAItH et sSHME II1E21E8 X4
2 2EX B A
20,000,000 * 100 2 20,000
= 10,000
Al 10,000
MNees 67,000 0 67,000
UWRHHXIE (s 67,000 0 67,000
Zletd FF A 67,000 0 67,000
701 JIEtRI HSHES 67,000 0 67,000
01 It AN ES 67,000 0 67,000
O=ZMEAIY S8 dE= 67,000
PsURS0IY= HHEHEH HE
67,000,000 *14] 67,000
HY2EGH(sYII=m) 83,782 73,804 9,978
eIE 2 (sYI1=n) 60,678 52,806 7,872
H2AH(sglI=s) 60,678 52,806 7,872
101 @124H| 60,678 52,806 7,872
01 2= 50,085 42,713 7,372
OAlIZRIZR4E
11,1302 x 15 *300A1 2+ 50,085
03 SRA(RIH )22+ 10,593 10,093 500
OgEz2E 10,593
DEAAMRR (YA, ESHEERE)
16,0003 * 11 *60A| 2+ 10,593
Jl23tl(sgll=sm) 23,104 20,998 2,106
Jl2dtl(sgl1sm) 23,104 20,998 2,106
201 er2&| 13,604 12,798 806
01 At2teltl 12,909 12,144 765
ORAMEE AtR2elH]
12,909,000 x 14 12,909
02 s3=gHl 695 654 4
ORAEg 3524l 695,000 14| 695
202 04| 4,000 4,000
01 SLHoIH 4,000 4,000
solslg 2R 220
4,000,000 14| 4,000
203 HR=AH] 4,200 4,200
MU A2 LRFEI 4,200 4,200
0258 Olat 350,000 x 122 4,200
405 AtatE=H 1,300 0 1,300
01 TR =SFISHI 1,300 0 1,300
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OPC(=R) (2A) 1,000,000 *1CH 1,000
OPC(2UIE) (2 H) 300,000& *1CH 300




